=
% @ @ \Q& LARRIU NATAN S1duuaInIseLiiunig

fia: Jun ATUUL:
%—%X3—15><%+3= %—10x%+2—4x2.4=

5.5—%—4><§= 2.2—§><5+4.6=

%+5.2><5+%= %—2.1—4x%=

3.3—%—2x5.9= é+3.6><2+%:

é—4.9><3—8><%+2= %—5.1+2x%=

www.snowmath.com



LARRIU NATAN S1duuaInIseLiiunig

ga®04

%ia:

11 1 31 1
S o x3-15x - +3=(-2)=(2—
5 5 3 TR

1
—+52 x5+
5
1 26 2
33—==2x59=(=)= (8=
£ -2%59=(-3)=(-83)

1 1 1
D 4ox3-gxligo 13
5 5 10

3
):(_ISE)

e
=
=

%_10x%+2—4><2.4=(—%)=(—10%)
2.2—§x5+4.6:%:31—75‘

%—2.1—4>< §=(—;)=(—3%)
é+3.6><2+§=113—3=8%

1 1 59 14
L 5 42x = (-2 = (-3
2 3R =GR

www.snowmath.com

ASLLUU:



